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Short Answer Question 4

Use the table below to answer all parts of the question that follows.

Percent of the workforce employed in each sector of the economy in France, 1800-2012

YEAR | AGRICULTURE | MANUFACTURING SERVICES
(INCLUDING CONSTRUCTION)

1800 64% 22% 14%

1900 43% 29% 28%

1950 32% 33% 35%

2012 3% 21% 76%

a) Based on the table and your knowledge of history, identify and explain TWO broader trends that
contributed to the changes in the patterns of employment in France between 1800 and 2012.

b) Based on the table and your knowledge of history, identify and explain ONE effect of the economic
transformations reflected in the table on Western European societies.

0-3 points

Score 3
Response accomplishes all three tasks set by the question.

Score 2
Response accomplishes two of the tasks set by the question.

Score 1
Response accomplishes one of the tasks set by the question.

Score 0
Response accomplishes none of the tasks set by the question.

Score —
Is completely blank
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Short Answer Question 4 (continued)

Scoring Guide

0-3 points

e ONE point for identifying a specific example of a broad trend AND explaining how that broad trend
contributed to changes in the patterns of employment in France in the period between 1800 and
2012.

e ONE point for identifying a specific example of a broad trend that is DIFFERENT from the one
provided above AND explaining how that broad trend contributed to changes in the patterns of
employment in France in the period between 1800 and 2012

e ONE point for identifying a specific example of an effect on economic or social life in Western
Europe AND explaining how that effect resulted from the transformations reflected in the table.

Scoring Notes

General scoring considerations for Part A:

The prompt requests that the response address the time period from 1800 to 2012, which could occur
in one of two ways. First, the response could cover the entire period in discussing each one of the
trends to be identified and explained. Second, each of the trends could cover a part of the period, but
taken together the full period is addressed. If the response only addresses a part of the period (e.g.,
only the nineteenth century, only the twentieth), it may receive a maximum of one point for the task
even if the identification and explanation of both trends is acceptable.

This task focuses on understanding causes and explaining causal relationships. Consequently, the
responses need to indicate clearly how the trend contributes to the phenomena (organization of the
French workforce over time) described in the table. Attention must also be paid to the temporal
context. Answers that make sense for the twentieth century, for instance, may not be persuasive in
relation to the nineteenth-century context.

The task also requires that two distinct trends be identified and explained. If the response only
examines two consequences of one trend, it can only receive a single point.

Acceptable responses for part A that would earn credit:

The Industrial Revolution resulted in the growth of the manufacturing sector. Moreover, by attracting
workers from rural areas, it prompted reductions in the agricultural workforce.

The mechanization of agriculture promoted productivity gains that decreased the need for agricultural
workers.

Increased international competition for industrial markets after 1950 resulted in decreased demand for
industrial labor, but it also encouraged a shift towards the service sector, which explains the spike in
the service workforce after 1950.

Improvements in educational access (mandatory primary schooling, expansion of university education
[later]) contributed to the expansion of service-sector employment.

Technological progress decreased the needs for massive human resources in the agricultural and
manufacturing sectors, permitting the expansion of service-sector employment.
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Short Answer Question 4 (continued)

The emergence of a consumer society after 1950 led to the creation of new employment opportunities
in the service sector.

The expansion of the “modern state” during the nineteenth and twentieth centuries promoted major
growth in the service sector (e.g., jobs in education, public health, government,).

The rise of globalization after 1950 resulted in a decline of manufacturing jobs in France as traditional
industrial work could now be accomplished more cheaply elsewhere.

Note: Students often speak of an “agricultural revolution” in this question, but without a great deal of
precision.

General scoring considerations for part B:

This task emphasizes explaining the effects of the transformations suggested in the table. The
response must, therefore, clearly focus on explaining how the trends reflected in the table had an
impact on Western European social or economic life.

Note, too, that this task does not require that the response address the entire period covered in the
table.

Acceptable responses for part B that would earn credit:

e The growth in manufacturing jobs contributed to urbanization, since the new jobs in industry tended to

be concentrated in cities.

e The expansion of the workforce in manufacturing (especially industry) promoted the rise of ideologies
like socialism and communism and also union movements, since they sought to improve workers’
lifestyles and promote the cause of social equality.

e The shift from agricultural to manufacturing and service labor permitted individuals (and the working

classes in particular) to save money and spend less time working, thereby contributing to the spread of

leisure activity and consumerism.

e The growth in manufacturing jobs and industrial conditions undermined traditional notions of family life

and familial relations.

e An increase in manufacturing jobs prompted the emergence of new social classes such as the
“proletariat” and the “bourgeoisie” and a heightened awareness of social difference.

e The steady increase in service-sector employment reflected both an expansion of the middle class in
Western Europe and, overall, long-term improvements in the standards of living.
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SAQ A

Use a pen with black or dark blue ink only. Do NOT write your name. Do NOT write outside the box.

Write your answer to SECTION I: PART B, QUESTION 4 on this page only.
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End of response area for Q4
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SAQ 4B

Use a pen with black or dark blue ink ohly. Do NOT write your name. Do NOT write outside the box.

Write your answer to SECTION I: PART B, QUESTION 4 on this page only.
M) Iwtns Tk Bewsty WO 4wy U150 we 5%
b PRIRSE 1 MIRECLTRIE AN s e PEASS
M ANDUS TlhL vawsc [c—ers Tzevs s bve© Upcs
bus7 : cocasn) W T 5,7,@;/;,,[,1# |
DC‘UD(/J ovT  er DAr?M JeBs avd (/fﬂ{?cﬂ wM‘é’f;’?,v(‘ﬁuu AV 3
MWUP%TUQS‘«

] F,w wm m‘ wrz Lwg g€ A ?,M\wr Decae%e »,

End of response area for Q4
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SAQ 40

Use a pen with black or dark blue ink only. Do NOT write your name. Do NOT write outside the box.

Write your answer to SECTION I: PART B, QUESTION 4 on this page only.
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Short Answer Question 4
Overview

This question presented a table showing the percentage of the French workforce employed in the
agricultural, industrial, and service sectors for the years 1800, 1900, 1950, and 2012. The questions asked
students to explain two trends that contributed to the change in patterns of employment and to explain
one effect of the changes.

Sample: 4A
Score: 3

The response earned 2 points in part a). It received 1 point for noting that industrialization created more
construction and industrial (manufacturing) jobs. It earned a second point for asserting that new
educational models and improved literacy contributed to the expansion of the working class and implying
that industrialization caused an increase in service jobs. The response earned 1 point for part b) by
observing that the growth in industrial jobs helped to create new urban environments, mentioning that the
shift toward more industrial work altered aspects of traditional family life.

Sample: 4B
Score: 2

The response earned 2 points for part a). It explains that the rise of industrial production (1800-1950)
resulted in a decrease in farm sector jobs and a rise in manufacturing sector employment. It points out that
since 1950 automation and further technological progress have resulted in a “rampant decrease” in both
manufacturing and agricultural jobs. The response successfully completes the chronological dimension of
part a) in that, taken together, the two trends discussed address the entire period specified in the prompt.
The response did not earn points for part b). Neither comment offered at the end of the response (birth
control, increased numbers of women in the workforce) is clearly presented as an effect of the workplace
transformations described in the table.

Sample: 4C
Score: 1

The response earned 1 point for part a) by explaining how the Industrial Revolution sparked growth in
manufacturing jobs after 1950; thereafter, the response asserts that declining construction activity reduced
demand for manufacturing labor. The second part of this argument is less convincing, but this does not
detract from the overall point. The response attempts to identify a second trend, consumerism, but the
explanation is insufficient. The response did not earn any points for part b). Although it identifies changes
in the economic and social life in Western Europe (improving standards of living), these changes are not
presented as the consequence of the transformations presented in the table.
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